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Sample Paper – 2009
Class – X

Subject – Mathematics(Code No.   30/1)
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· Please check that this question paper contains 04 printed pages.

· Code number given on the right 'hand side of the question paper should be written on 
the title page of the answer-book by the candidate.

· Please check that this question paper contains 30 questions.

· Please write down the serial number of the question before attempting it.

Time allowed: 3 hours





      Maximum Marks: 80

General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for mathematical tables, if required.

SECTCON A

1. Express 
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in the form 
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2. Write the quadratic polynomial, the sum and product of their zeroes are 
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3. If 
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4. Find the product of roots of the following quadratic equation 
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5. Write the 5th and 7th terms of the A.P. 
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18, 4, 26,...........
6. What is the probability of a sure event?

7. ABCD is a square whose each side is 14 cm. APD and BPC are semicircle. Find the area of the shaded region.
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8. The wickets taken by a bowler in 10cricket matches are as follows:

4, 6, 3, 5, 0, 2, 1, 4, 2, 4

Find the mode of the data.

9.
In figure, a point P is 13cm away from the centre of the circle. The length of one tangent drawn from P to the circle is 12 cm. Find the radius of the circle.
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10.
The perimeter of two similar As ABC and PQR are respectively 36 cm and 24 cm. If PQ = 10 cm. Find AB.

SECTCON B

11. Find the roots of the equation 5x2
[image: image11.wmf]-

6x
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2 = 0 by the method of completing the square.

12. Express cot 78° + sin 56° in terms of trigonometric ratios of angles between 0° and 45°
13.
Find the relation between x and y such that the point (x , y) is equidistant from the points (3 , 6) and (
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3 , 4).

14.
CA and CB are tangents to a circle with centre 0 (as shown in fig.) Find the value of x and y.
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OR

In fig. (1 = (2 and (3 = (4. Show that PT ( QR = PR ( ST.
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15.
If the mean of the following data is 21, find the value of p.

	x
	10
	15
	20
	25
	35

	f
	6
	10
	p
	10
	8


SECTCON C

16.
Prove that 
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 is an irrational number.

17.
A sum of Rs. 1000 is invested at 8% simple interest per year. Calculate the interest at the end of each year. Do these interests form an AP? It so, find the interest at the end of 30 years making use of this fact.

18.
A cottage industry produces a certain number of pottery articles in a day. It was observed on a particular day that the cost of production of each article (in rupees) was 3 more than twice the number of articles produced on that day. If the total cost of production on that day was Rs. 90, find the number of articles produced and cost of each article.

OR

A piece of cloth costs Rs. 200. If the piece were 5 m longer and each meter of cloth cost Rs. 2 less, the cost of the piece would have remained unchanged. How long is the piece & what is its original rate per metre?
19.
Solve for x and y:
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20.
Prove that: 
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[image: image19.wmf]11

If secx prove that sectan2x or .

4x2x

q=+q+q=


21.
The co-ordinates of the mid-point of the line joining the points (3p, 4) and (
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2, 2q) are (5, p). Find the values of p and q.
22.
Find the point of intersection of y-axis and the perpendicular bisector of (2, 
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3) and (
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4, 1).

23.
Draw a right triangle in which the sides (other than hypotenuse) are of length 4 cm and 3 cm. Then construct another triangle whose sides are 
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 times the corresponding sides of the given triangle.

24.
In fig., AB is an arc of a circle with centre O and radius 5 cm. DC is an arc of another circle with the same centre O and radius 8 cm. If (AOB = 120°, find the perimeter and area of the shaded region correct to 1 decimal place (use ( = 3.142).
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OR

A square park has each side of 100 m. At each comer of the park, there is a flowerbed in the form of a quadrant of radius 14 m as shown in fig. Find the area of the remaining part of the park.

[image: image25.emf]
25.
Prove that opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles at the centre of the circle.

SECTCON D

26.
A pole 5 m high is fixed on the top of a tower. The angle of elevation of the top of the pole observed from a point 'A' on the ground is 60° and the angle of depression of the point' A' from the top of the tower is 45°. Find the height of the tower.

OR

A fire in a building B is reported on telephone to two fire stations P and Q, 20 km apart from each other, on a straight road. P observes that the fire is at an angle of 60° to the road and Q observes that it is an angle of 45( to the road. Which station should send its team and how much will this team has to travel?
27.
The following frequency distribution gives the monthly consumption of electricity 68 consumer of a locality. Find the median, mean and mode of the data and compare them.

	Monthly Consumption of electricity
	No. of Consumers

	65 – 85
	4

	85 – 105
	5

	105 – 125
	13

	125 – 145 
	20

	145 – 165
	14

	165 – 185
	8

	185 – 205
	4


OR

Following is the age distribution of a group of students. Draw the cumulative & frequency polygon, cumulative & frequency curve (less than type) and hence obtain the median value.

	Age
	Frequency

	5 – 6 
	40

	6 – 7
	56

	7 – 8
	60

	8 – 9
	66

	9 – 10
	84

	10 – 11
	96

	11 – 12
	92

	12 – 13
	80

	13 – 14
	64

	14 – 15
	44

	15 – 16
	22

	16 – 17
	22


28.
Prove that in a triangle, if square of one side is equal to the sum of the squares of other two sides, then one angle opposite the first side is a right angle. 

Using the above result, prove the following:

ABC is an isosceles triangle with AC = BC. If AB2 = 2AC2, prove that (ABC is a right triangle.

29.
A shuttlecock used for playing badminton has a shape of a frustum of a cone mounted on a hemisphere. The external diameters of the frustum are 5 cm and 2 cm and the height of the entire shuttlecock is 7 cm. Find its external surface area.

30.
Solve the following pairs of equation:
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